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Aufgabe 1

Vereinfache und entferne die Klammern.

a) (b—a)® — ab b) (a + 10)% — a2 ¢) (b—a)? — a?
d)ba+ (a+b)? e (x+y)+yr £ ba+t (a+b)(a—Db)
¢) 14a + (a + 14)? b (z—y)? —ya ) (10 — z)% — 10z
j) (a—6)* —a?

Aufgabe 2

Vereinfache und entferne die Klammern.

a)8a+11)%2  b)9a—b%* 9 O+a)?-8  d) 4(a+b)?
106 +2)2  H(@+2°%3  g2a—0b*>  h8a—b)?
) (12+a)%-9 i) (a—10)%-6

Aufgabe 3

Vereinfache und entferne die Klammern.

a) (204 2)(20 —2) +20z b)) (a+b)P+d? o) (6—x2) + 22

d) a(17 + a)? e) (b+a)(b—a)+4 £) (z—11)% + 11z

9 (a+0)?+3  n(b+a)?—8  i)15z+ (z—15)°

j) (x—2)* =5

Aufgabe 4

Vereinfache und entferne die Klammern. Wende die binomischen Formeln an.

)5+ (15+2)2 b (T+2)?-6 o (T+a)? 6

)64+ (z+8)° o(1l+a)?-9 Hb+a)?-5

9 (z4+92—-4  n12+a)’+5  H(@+11)26  H2Ab+a)’

Viel Erfolg!
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